ARO01.45-P-7500-06F Page 1 of 2

ARO01.45-P-7500-06F Oil pan bolt diagram Engines 112, 113

Upper part of oil pan shown on engine |
112 with 4 MATIC

1 Bolt M6:20
2 Bolt M6::40
3 Bolt M6x85
4 Bolt M8x30 /7

j J/-'_

ni

1l \

2 I
‘ﬁij“‘—\'-'-_.__w

P01.45-0233-06

Upper part of oil pan shown on engine —
112 without 4 MATIC - :
1 Bolt M6:20 ‘

2 Bolt M6:40 ,[ 9

3 Bolt M6:<90
4 Bolt M830

[
OB

A

s

© 2007 Mercedes-Benz USA, LLC



ARO01.45-P-7500-06F Page 2 of 2

P01.45-0236-05

Upper part of oil pan shown on engine
113

1 Bolt M6:20
2 Bolt M6x40
3 Bolt M6x90
4 Bolt M8x30

P01.45-0258-05

© 2007 Mercedes-Benz USA, LLC



